
iRunning Board Installation Instruction  
Application: 2009-2012 Honda Pilot 

2009-2013 Acura MDX 
 

  
 
 
 

                                       Page 1 of 2 

The instruction here is for your reference only. We strongly recommend the 
professional installer for best result. We are not responsible for any damage 

caused by the installation. Thank you for choosing our product! 
 

REV: 20170601 

 
Step Description 

1 Verify all parts listed are present and free from damage. Carefully read and understand all 
instructions before attempting installation. 

2 

Starting from the drivers side of the vehicle, behind the front wheel locate the two threaded holes 
located in the rocker panel of the vehicle. Take the drivers side front mounting bracket and attach 
to the threaded holes using (2) M8 hex head bolts, (2) M8 lock washers, and (2) M8 flat washers. 
(FIG 1). Do not fully tighten at this time. 

3 
Move to the center of the vehicle and locate the two threaded holes in the vehicle see fig 2, attach 
the drivers side center rear mounting bracket to the threaded holes using (2) M8 hex head bolts, 
(2) M8 lock washers, and (2) M8 flat washers (FIG 2). Do not fully tighten at this time. 

4 

Move to the rear of the vehicle, there will be one threaded hole in the frame.  
Next take (1) M8 wire nut and place it through the large hole located in the frame (FIG 3). 
Attach the rear mounting bracket to the threaded hole in the frame and the wire nut using (2) M8 
hex head bolts, (2) M8 lock washers, and (2) M8 flat washers.  
Do not fully tighten at this time. 

5 

Next take the driver side running board and place it on the running board brackets  
Attach the running board to the mounting brackets by sliding the M6 square head bolts in the 
groves in the running boards (2)M6 square head bolts will be used per mounting bracket attach 
using (2) M6 flat washers, and (2) M6 Nylon nuts (FIG 4) . Do not fully tighten at this time. 

6 
Align and adjust step bar as needed,  
(NOTE : if needed the extra M8 washers are used as spacer shims for the brackets) then tighten 
all hardware at this time. Torque all M8 hardware to 25-30 ft lbs, and M6 to 25 ft lbs.  

7 Repeat steps 1-6 for passenger side. Installation Completed. 

Item Part Name QTY Item Part Name QTY 

1 Running Boards (Driver+ Passenger) 2 8 M8 Lock Washers 12 

2 Front Mounting Bracket Driver Side 1 9 M8 Flat Washers 6 

3 Front Mounting Bracket Passenger Side 1 10 M6 Square Head Bolt 12 

4 Rear Mounting Bracket Driver Side 2 11 M6 Nylon Lock Nuts 12 

5 Rear Mounting Bracket Passenger Side 2 12 M8 Wire Nuts 2 

6 M8X1.25-25mm Hex Bolt 12 13 M6 Flat Washers 12 

7 M8 Flat Washers 12    

  
Front Mounting Bracket Rear Mounting Bracket 



iRunning Board Installation Instruction  
Application: 2009-2012 Honda Pilot 

2009-2013 Acura MDX 
 

  
 
 
 

                                       Page 2 of 2 

The instruction here is for your reference only. We strongly recommend the 
professional installer for best result. We are not responsible for any damage 

caused by the installation. Thank you for choosing our product! 
 

REV: 20170601 

CARE INSTRUCTIONS 
 REGULAR WAXING IS RECOMMENDED. DO NOT USE ANY TYPE OF POLISH OR WAX THAT MAY 

CONTAIN ABRASIVES 
 GLOSS BLACK FINISHES SHOULD BE CLEANED WITH MILD SOAP AND WATER 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 


